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() FAYH-UALE34THE | at gy a8 |

(i)  TETT-9A S 9T A fAIfSId & — WTT e T4 AT |

(iii) 9T & GHt ghemfefal & forg srfAard € 1

(iv) HTT@ %3l fasheyq 8 | ghenfofal & saet Uah & fasheq & 9941 & SR for@a € 1
farehey 1 : ot faeron <671 faveraor
farekeq 11 - rfirehford araianT

(v) A EEIT 19 16 (97T %) G199 G127 @ 30 (71 @) Sglashedi YR & Je1 8 | ek
9T 1 FFHHE

(vi) % G 17 ¥ 20 (T F) T T G 31 R 32 (97 G) TSI TFR & T B |
e J97 3 3Tl 18 |

(vii) T GEIT 21, 22 (9T %) AT I GE&IT 33 (Y71 @) S -S70T ThR-1 & T & | Iedeh I3
43F FEI

(viii) T G&IT 23 @ 26 (9T &) T I GEIT 34 (911 @) -390 JBR-11 & T3 8 | I3
Y7 6 3H 1T |

(ix) o937 % GHY faeheq el foa1 71 8 | FE, I&AF 97 % F© Y91 § ARk faeeyq &l
TIT AT T B |

HOT<h

(BTSSR FHT TAT HEAAT o foTu eiaien)

1. IS, Sefar o =Tell Toh BH H HISHER & T 2 0 2 1 1 o SFUTd § AT 6T forvTsiH
Wﬁ@flafsﬁﬁtsﬁéamﬁﬁ; T 3 For efiest oot s R | et et ; T %
o 38 srrgufersh ISt o1 ANTEH <7 o1 | SorwT oAt feifer shi @t qen aieratet o
AN 6 TAHeHTRA TFel Tl FHRISHT o aTa 3Aeht St off © 3T % 62,000,

ST % 52,000 T =T £ 36,000 | €S SR AT TS it 20 - 1
(A) 37,500 (B)  ¥30,000
(C) 32,500 (D) 35,000
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General Instructions :

Read the following instructions carefully and follow them :

(i) This question paper contains 34 questions. All questions are compulsory.

(ii) This question paper is divided into two parts — Part A and Part B.

(iii)  Part A is compulsory for all candidates.

(iv)  Part B has two options. Candidates have to attempt only one of the given options.
Option I :  Analysis of Financial Statements
Option Il :  Computerised Accounting

v) Questions number 1 to 16 (Part A) and Questions number 27 to 30 (Part B) are multiple

choice questions. Each question carries 1 mark.

(vi)  Questions number 17 to 20 (Part A) and Questions number 31 and 32 (Part B) are short

answer type questions. Each question carries 3 marks.

(vii)  Questions number 21, 22 (Part A) and Question number 33 (Part B) are Long answer

type-1 questions. Each question carries 4 marks.

(viii) Questions number 23 to 26 (Part A) and Question number 34 (Part B) are Long answer

type-11 questions. Each question carries 6 marks.

(ix)  There is no overall choice. However, an internal choice has been provided in few

questions in each of the parts.

PART A

(Accounting for Partnership Firms and Companies)

1. Arjun, Babita and Charlie were partners in a firm sharing profits in the ratio of
2 :2: 1. They admitted Dheeraj for éth share in the profits of the firm. He has to
contribute proportionate capital to acquire ;th share in future profits. On the date
of admission, the capitals after all adjustments relating to goodwill and

revaluation of assets and liabilities, were : Arjun ¥ 62,000, Babita ¥ 52,000 and

Charlie 36,000. The capital brought by Dheeraj will be : 1
(A) ¥37,500 (B) ¥30,000
(C) 32,500 (D) ¥35,000

67/S/2

Get More Learning Materials Here : & m @ www.studentbro.in



2. & &t e fqu e € freRed (A) 99T HROT (R) I
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frafafaa 8 @ gt fere o1 == fifsw

(A)  SANYRYT (A) TAT HRT (R) THT TEI &, TR BT (R) RAT (A) T Tl
T AE © |

(B) AN (A) YT HIT (R) SHT TET & aAT T (R) AMMFRAT (A) FT Tl
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(C) AT (A) TR &, TATRT HRT (R) TAT R |

(D)  SANERYT (A) TTeTd &, Afeh HROT (R) T 2 |

3. SHIEET, a9 HiU Tk BH § i off 9T Ar9-gT o fardTeia Se-se hid
off | % % AT | SRIeK o 9T o foTC U ¢ AIEIGR & ®9 H et sl JasT foam mm |
it ST AT A O o @t sfifiem s aRT e A | i & e Al W
qEchi § AT % 1,20,000 T fewg 77 off | ferem o sht staferied foam sma 1
(A) IO HTHER % e GO AT H |
(B) ?eré?rﬁ%aﬁ?r:rqwmﬁl
(C) Wmmﬁaﬁméﬁﬁ%rwmmﬁﬁl
(D) YU HTHERT o S QT ST H |

4.  (F) ¥, PIcATS qA AT OF B H @GR A TAT9 ¢ 6 ¢ 5 o ST H ATH-ITH
famqasram%maﬁwﬁﬁ%masfm@m@mamﬁmﬁm
T, S 3 T a9 Bt 8 sReR-aieR Atmted foRar | T o wew o A

ERIKIIURERISEICERINRTI 1
(A) 5:5:2:8 (B)
(C) 8:2:5:5 (D) 8:5:5:2

AYAT

@) maﬁtﬁm@mﬁﬁmﬁam4 3%Wﬁwgﬁwﬁw
Wms—eﬁﬁtﬁ%wﬁﬁ w%%qiﬁaﬁmﬁm%ﬂaw AT 3G

amrﬁam - wmfwﬁ%mmmr ﬁmwﬁa%aﬁawmﬁw

AT BT ; 1
(A) 4:3:3 B) 2:1:3
< 2:2:3 (D) 4:3:2
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2. There are two statements Assertion (A) and Reason (R) : 1
Assertion (A) :  The maximum number of partners in a partnership firm are 50.
Reason (R) : The maximum number of partners are prescribed by the

Partnership Act, 1932.

Choose the correct option from the following :

(A)  Both Assertion (A) and Reason (R) are correct, but Reason (R) is not the
correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are correct and Reason (R) is the
correct explanation of Assertion (A).

(C)  Assertion (A) is correct, but Reason (R) is incorrect.

(D)  Assertion (A) is incorrect, but Reason (R) is correct.

3. Kamini, Lata and Meera were partners in a firm sharing profits and losses equally.
Neel was admitted as a new partner for an equal share in the profits of the firm.
Neel brought his share of capital and premium for goodwill in cash. On the date of
admission of Neel, goodwill appeared in the books at ¥ 1,20,000. The existing
goodwill is to be written off among : 1
(A)  Old partners in old ratio.
(B)  New partners in new ratio.
(C)  Sacrificing partners in sacrificing ratio.
(D)  Old partners in sacrificing ratio.

4. (a) Renu, Trilok and Mansi were partners in a firm sharing profits and losses
. . . . 1 .
in the ratio of 9 : 6 : 5. Hina was admitted as a partner for — 1 share in the

10
profits which she acquired equally from Renu and Trilok. The new profit

sharing ratio after Hina’s admission will be : 1
(A) 5:5:2:8 B) 5:5:8:2
(C) 8:2:5:5 D) 8:5:5:2

OR

(b)  Ashu and Ria were partners in a firm sharing profits and losses in the ratio

of 4 : 3. They admitted Nitu for a %th share in the profits of the firm,

which she took %th from Ashu and %th from Ria. The new profit sharing
ratio between Ashu, Ria and Nitu will be : 1
(A) 4:3:3 B) 2:1:3

< 2:2:3 D)y 4:3:2
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5. HRaet TR YRd T B H HISER & T4 : 3 % STATd | ATH-8TH 6T forTs i o |
31 H=, 2023 %1 G g€ 9 § fRaet 4 Jie el & oM o 6,000 T SR
TR | SATETOT T SATST 5% SATfYeh 0 & TTia foarm ST o | et o Areer ot st

CARIVEICARSI Ui 1
(A)  6HEH % fag (B) 4.5 wWEM &R
(C) 759N F Y (D) 3HER g

6. TS, Shickl qUT TR Th % H HISER o | BH ol faeed &1 @ | e 7 ST
% 60,000 o 3HifTH WA H Z 60,000 o T&dh T 6 Feiler bl Tedeh 42T 8 10%
W O A T | 39 TR 61 e 37 <% gR TR T | e g s Sl g iR

Y 1
(A) 5,000 (B) %6,000
(C) % 54,000 (D) FB L

HHfeTead et feafd a1 afgq o1 $&H & 75 a1 % HTYR W I3 H&F1 7991 8 % I
aiorg -
T&7 ST THIT T H  ATSIGR & qAT 3 ¢ 1 % I | ATH-ETH b frTs &id € |
ST USTt SHHRT: T 1,60,000 TATZ 1,00,000 ot | AR €l o HTHR, o 10% AMoh
TSI 9T TS o BHAR o | 31 |, 2023 1 HHTH T A H BH A T 13,000 HT ATH

CISCRCIES

7. S8 TS O SATS B ; 1
(A)  %5,000 (B)  ¥8,000
(C)  %16,000 (D) % 10,000

8.  UehiIT T ATH/RT § SR €T ; i
(A)  FB AR (B)  %9,750 (FTF)
(C)  %3,250 (1) (D)  %9,750 (AT)

9. T 31 HUA QUM E, SAMTRAT (A) TATHR (R) 1

ATFIT (4) :  AHERY & Torere i Reurfa & =mamer seaed 72 st |
FT (R) : TSR T GHTY TTSIERT o TTE THEd SR BT 2 |

frafafaa 8 9 o fere o1 == fifsw

(A) AN (A) AT FRT (R) AT G&T 8, AT sRor (R) 3ok (A) Y T&t
TS TE 2|

(B) AN (A) YT HIT (R) SHT TET & aUT T (R) ATMHRAT (A) FT Tl
TR |

(C)  ANERT (A) T &, AfhT HROT (R) T & |
(D)  ANERAT (A) TTeId €, Wfeh 10T (R) TR 2 |
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5. Nikhil and Sharat were partners in a firm sharing profits and losses in the ratio of
4 : 3. Nikhil withdrew ¥ 6,000 on the first day of every quarter for the year ended
315t March, 2023. Interest on drawings is to be charged @ 5% p.a. Interest on
Nikhil’s drawings will be calculated for :

(A) 6 months (B) 4.5 months
(C) 7.5 months (D) 3 months
6. Pawan, Kavita and Gaurav were partners in a firm. The firm was dissolved.

Creditors took over furniture of book value of ¥ 60,000 at 10% less than the book
value in part settlement of their amount of ¥ 60,000. The balance amount was
paid to them through cheque. The amount paid through cheque will be :

(A) T5,000 (B) 6,000

(C) ¥54,000 (D) Nil

Read the following hypothetical situation and answer questions No. 7 and 8 on the basis
of the given information :
Daksh and Ekansh are partners in a firm sharing profits and losses in the ratio of
3 : 1. Their capitals were ¥ 1,60,000 and ¥ 1,00,000 respectively. As per
partnership deed, they were entitled to interest on capital @ 10% p.a.. The firm
earned a profit of ¥ 13,000 for the year ended 315t March, 2023.

7. Daksh’s interest on capital will be :
(A) ¥5,000 (B) 8,000
(C) T16,000 (D) ¥ 10,000
8. Ekansh’s share of profit/loss will be :
(A) Nil (B) ¥9,750 (Loss)
(C) ¥3,250 (Loss) (D)  ¥9,750 (Profit)
9. There are two statements Assertion (A) and Reason (R) :
Assertion (4) :  Court does not intervene in case of dissolution of partnership.
Reason (R) : Dissolution of partnership takes place by mutual agreement
among partners.

Choose the correct option from the following :

(A) Both Assertion (A) and Reason (R) are correct, but Reason (R) is not the
correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are correct and Reason (R) is the
correct explanation of Assertion (A).

(C)  Assertion (A) is correct, but Reason (R) is incorrect.

(D)  Assertion (A) is incorrect, but Reason (R) is correct.
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10. (F) TS I1 AT I SR & ITed &1 eht T8 T3 a0l 1
(A)  IRWIEATE I H e S e |
(B) I IEATEE F ST ferar ST R |
(C) 3T I=HAT I & 9 8 fer@r Srar e |

(D) 37T Jr=HT @I o ST H ferar simar? |
JTAaT
(@) d RUMA ST WIAE H G F w aH A Rfd % Sevm @ et
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(A)  Teaa o

(B)  USiiehd ROUTaA
(C)  Tafemee oo &t omas
(D) | OIS

11. (F) AR fafiee 37 100 TAF F 6,000, 11% FOTGHT 1 10T 10% 52 W fomm,
SRt e shiftm o forar ST | seorEt & eSS 9T SRl %
e W SR 61 SRt & e X 219 @ & 91y 8 daeg, o
ST © | AfS ot & e o g £90,000 off, A1 FO9ET % Sl W

siferm & iy g 1
(A)  %60,000 (B)  %90,000
(C)  %1,20,000 (D)  %30,000

AUAT

@) 1 39, 2022 1 GAT AW T F 100 T4 o 10,000, 12% 0= 1 a1
5% Siferam o foham | 31 AT, 2023 1 SHT G AN H O] 9T el TSt h

Tfyr @Tﬁ : 1
(A) T1,20,000 (B) ¥50,000
(C) T1,00,000 (D) ¥1,26,000
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10. (a) Money not received from shareholders on allotment or calls is : 1

(A)  debited to calls in advance account.
(B)  credited to calls in advance account.
(C)  debited to calls in arrears account.

(D)  credited to calls in arrears account.
OR

(b) Those debentures where a charge is created on the assets of the company

for the purpose of payment in case of default are known as : 1
(A)  Secured Debentures

(B)  Registered Debentures

(C)  Specific Coupon Rate Debentures

(D)  Redeemable Debentures

11.  (a) Nagar Ltd. issued 6,000, 11% Debentures of ¥ 100 each at a discount of
10% redeemable at a premium. ‘Discount on issue of debentures’ and
‘Premium on redemption of debentures’ were accounted for through ‘Loss
on issue of debentures account’. If the amount of ‘Loss on issue of

debentures’ was ¥ 90,000, then the amount of premium on redemption of

debentures was : 1
(A) ¥60,000 (B) 90,000
(C) %1,20,000 (D) %30,000

OR

(b) On 15t April, 2022 Surya Ltd. issued 10,000, 12% Debentures of T 100

each at a premium of 5%. The total amount of interest on debentures for

the year ended 315t March, 2023 will be : 1
(A)  £120,000 (B) 50,000
(C©)  %1,00,000 (D)  %126,000
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12. (%) ST, TOIH Q1 heh U H H WHER A QT 2 ¢ 2 : 1 o 3F{UTd H AT
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(A) |aTar =T YSft @rar ™ 10,000

Sheh o STt @Td | 10,000
(B) | =h1 dsft @rar qm| 5,000

Sheh o ST @1 | 5,000
(C) | 1 Isht @ra am 10,000

CRIERCIREICES] 10,000
(D) |3 =1 4Sht @rat am 5,000

EEIC A CIREIGES] 5,000

aroraT
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méiuaﬁ?«rzozsﬁs—aﬁﬁamwﬁsmwﬁaw1 2:7
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(A) | T T JSit @ Jm| | 20,000
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(a)

(b)

Deepa, Elton and Frank were partners in a firm sharing profits in the ratio
of 2 : 2 : 1. With effect from 15t April, 2023 they decided to change their
profit sharing ratio as 1 : 2 : 2. There existed a Debit Balance of Profit and
Loss Account of 50,000 in the books of the firm on the date of change in
profit sharing ratio. The partners decided to retain the Debit Balance of
Profit and Loss Account in the books. The adjustment entry will be :

Journal
Particulars Dr. Amount | Cr. Amount
@ ®

(A) |Deepa’s Capital A/c Dr. 10,000
To Frank’s Capital A/c 10,000

(B) |Deepa’s Capital A/c Dr. 5,000
To Frank’s Capital A/c 5,000

(C) |Frank’s Capital A/c Dr. 10,000
To Deepa’s Capital A/c 10,000

(D) |Frank’s Capital A/c Dr. 5,000
To Deepa’s Capital A/c 5,000

OR

Som, Pam and Ron were partners in a firm sharing profits in the ratio of
7:2: 1. With effect from 15t April, 2023 they decided to change their profit
sharing ratio to 1 : 2 : 7. There existed a Credit Balance in the Profit and
Loss Account of ¥ 1,00,000 on the date of change in profit sharing ratio in
the books of the firm. The partners decided to retain the Credit Balance in

Profit and Loss Account in the books. The adjustment entry will be :

Journal
Particulars Dr. Amount | Cr. Amount
® @)

(A) |Ron’s Capital A/c Dr. 20,000
To Som’s Capital A/c 20,000

(B) |Ron’s Capital A/c Dr. 60,000
To Som’s Capital A/c 60,000

(C) |Som’s Capital A/c Dr. 20,000
To Ron’s Capital A/c 20,000

(D) |Som’s Capital A/c Dr. 60,000
To Ron’s Capital A/c 60,000
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13. (%) 3, S quT 3 Ok BH § WEER &4 q°1 3 0 2 ¢ 1 o AU H AT A
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(A) 2,000 (B)  %3,000

(C)  %5,000 (D) 20,000

15, SR ST g 3 AR 3 ST siu ol 6 it Rt e % ferg sifereg
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13. (a) Anu, Bina and Roy were partners in a firm sharing profits and losses in the

ratio of 3 : 2 : 1. Roy retired and his share was acquired by Anu. The new

profit sharing ratio between Anu and Bina after Roy’s retirement will be : 1
(A 3:2 B) 3:1
< 1:1 D)y 2:1

OR

(b)  Asha, Yug and Zubin were partners in a firm sharing profits and losses in
the ratio of 4 : 3 : 2. Zubin retired. Zubin’s share was acquired equally by

Asha and Yug. The new profit sharing ratio between Asha and Yug after

Zubin’s retirement was : 1
(A) 3:2 B) 5:4
(C) 4:3 D)y 2:1

14.  Sinoy Ltd. issued 20,000 shares of ¥ 10 each at a premium of ¥ 6. The amount was
payable as follows :
On Application — ¥ 7 per share (Including Premium ¥ 1 per share)
On Allotment — ¥ 5per share (Including Premium ¥ 2 per share)
On First and Final call — Balance
The issue was fully subscribed. All the money was duly received except the

allotment and first and final call on 1,000 shares. These shares were forfeited. On

forfeiture of these shares, the ‘Securities Premium Account’ will be debited by : 1
(A) ¥2,000 (B) ¥3,000
(C) ¥5,000 (D) ¥20,000

15. The amount of share capital which a company is authorised to issue by its

Memorandum of Association is called : 1
(A)  Issued capital (B)  Subscribed capital
(C)  Reserve capital (D)  Nominal capital
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16.

17.

18.

19.
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T, <o Qe et Uer o Arier off AT 42 5 ;1 o ST H ATH-_TH o1 forvrer
T off | Tt Sate &1 T | foam qe S A iy § T 3 ;7 o T |
TSt s a1 ot forar | fopet <6t SaTfafer sht feifer o e ot e s qedtisn
% 3,00,000 feraT TIT |

HIYATH ST hT TUHT AT FoIr foher st Farafd ot i 1 i i
e tTereersh T Tfafy Hifs |

TAT QT 71 Uk HH | @TEieR off T IRl €Y USht % 5,00,000 off | wfreher
I G 20% T | et I st o v o

% 20,00,000
% 80,00,000

z
2019 — 20 2,00,000
2020 — 21 4,00,000
2021 -22 2,50,000 (399 T 50,000 =T STETHTT ATH AT ©)
2022 - 23 4,00,000

TUse = ot o e TS o S 8] o shd o ATIR W FH hl AT shl TIET
ST |

(%h)

Sfce, R1E q°1 AfTd T BH H @TEER O qoT IR St ISt e
% 1,20,000, T 1,00,000 TTF 80,000 o1 | WTSHEHT €l o FTEI, USft 0 10%
Tfeh T © SATST o T TTTYT 9T, ATk Ut & a9 § SHRT o gT el foham

I |
Tl &1 991 o SR ATH- TSI 3T9Td 1+ SR ot -
af sifem EE) NINKS
2021 -22 5 3 2
2022 -23 1 1 1
TArEL Y o IO 37T 1 319, 2023 31 FHTASH JTa e T |
arera

Picnee

@ www.studentbro.in



16.  Beeta Ltd. offered for subscription 1,00,000 equity shares of T 10 each at a
premium of 100% payable entirely on application. Applications were received for

5,00,000 equity shares. The company decided to allot the shares on pro-rata basis

to all the applicants. The amount received by the company on application was : 1
(A) ¥1,00,00,000 (B) ¥20,00,000
(C) ¥1,20,00,000 (D) ¥80,00,000

17.  Diya, Esha and Fila were partners in a firm sharing profits and losses in the ratio
of 4 : 5 : 1. Fila retired. Diya and Esha decided to share profits in future in the
ratio of 3 : 7. On the day of Fila’s retirement, goodwill of the firm was valued at
% 3,00,000.
Calculate gaining ratio and pass necessary journal entry to record the treatment of
goodwill on Fila’s retirement. 3

18.  Rina and Anna were partners in a firm with a combined capital of ¥ 5,00,000. The
normal rate of return was 20%. The profits of the last four years were :

i3
2019 -20 2,00,000
2020 -21 4,00,000
2021 -22 2,50,000 (including an abnormal gain of ¥ 50,000)
2022 -23 4,00,000
Calculate goodwill of the firm based on two years purchase of the last four years’
average super profit. 3

19. (a) Jatin, Keshav and Lalit were partners in a firm with fixed capitals of
¥1,20,000, ¥ 1,00,000 and ¥ 80,000 respectively. As per the partnership
deed, there was a provision for allowing interest on capitals @ 10% p.a.,
but entries for the same had not been made for the last two years.

The profit sharing ratio during the last two years was as follows :

Year Jatin Keshav Lalit
2021 -22 5 3 2
2022 -23 1 1 1
Pass an adjustment entry of the beginning of the third year, i.e., on
15t April, 2023. 3
OR
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(b)  Meera, Neena and Ojas were partners in a firm sharing profits and losses in
the ratio of 5 : 3 : 2. The partnership deed provided for charging interest on
drawings @ 10% p.a. The drawings of Meera, Neena and Ojas during the
year ended 315t March, 2023 amounted to % 60,000, T 50,000 and T 40,000
respectively. After the final accounts had been prepared, it was discovered
that interest on drawings had not been taking into consideration.

Pass the necessary adjustment entry. 3

20 (a) Sheetal Ltd. purchased building worth ¥ 2,50,000, plant and machinery
worth T 2,00,000, furniture worth ¥ 40,000 and took over liabilities of
30,000 from Poonam Ltd. for a purchase consideration of ¥ 4,40,000. The
purchase consideration was paid by issuing 12% Debentures of ¥ 100 each
at a premium of 10%.
Pass the necessary journal entries in books of Sheetal Ltd. to record the

above transactions. 3

OR

(b) On 18t April, 2023, Simple Ltd. took over assets of ¥ 5,00,000 and
liabilities of T 1,00,000 from Temur Ltd. at an agreed value of ¥ 16,00,000.

Simple Ltd. paid the amount to Temur Ltd. as follows :
(1) Issued a bank draft of T 1,00,000.

(i)  Issued 8% Debentures of T 100 each at a premium of 50% in
satisfaction of the balance amount of purchase consideration.
Pass the necessary journal entries in the books of Simple Ltd. to record the

above transactions. 3
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21.  Sonia and Rohit were partners in a firm sharing profits and losses in the ratio of

3:2.0n 315t March, 2023 their Balance Sheet was as follows :

Balance Sheet of Sonia and Rohit as at 315¢ March, 2023

o Amount Amount
Liabilities Assets
@) @)
Capitals : Building 2,00,000
Sonia 70,000 Machinery 1,40,000
Rohit 90,000 1,60,000 | Furniture 80,000
General Reserve 80,000 | Debtors 1,20,000
Sonia’s Loan 1,30,000 | Stock 60,000
Bank Loan 2,20,000 | Cash at Bank 60,000
Creditors 70,000
6,60,000 6,60,000

The firm was dissolved on the above date on the following terms :

(1) Building, machinery and furniture realised ¥ 3,44,000.

(i1)  Debtors realised 90% only.

(i)  Creditors took away half of the stock in full settlement of their account.

(iv)  Remaining stock realised T 72,000.

(v)  Realisation expenses amounting to ¥ 14,000 were paid by Rohit.

Prepare Realisation Account.
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22.  Shringar Ltd. was registered with an authorised capital of ¥ 5,00,000 divided into
equity shares of ¥ 10 each. The company issued a prospectus inviting applications
for 20,000 equity shares. The amount was payable as follows :

On Application — ¥ 3 per share
On Allotment — ¥ 5per share

On First and Final call — Balance

Applications were received for 19,000 equity shares and allotment was made to all
the applicants. All the amounts were duly received except the first and final call
on 5,000 shares.

Present the share capital in the Company’s Balance Sheet as per Schedule III,
Part I of Companies Act, 2013. Also prepare ‘Notes to Accounts’ for the same. 4

23.  Gopi, Hira and Ira were partners in a firm sharing profits and losses in the ratio of
3:2: 1. Their Balance Sheet as at 315t March, 2023 was as follows :

Balance Sheet of Gopi, Hira and Ira as at 315t March, 2023

Liabilities Anz%u nt Assets Am(%u nt
Creditors 40,000 | Bank 50,000
General Reserve 30,000 | Stock 30,000
Capitals : Debtors 20,000
Gopi 75,000 Fixed Assets 1,40,000
Hira 50,000
Ira 45,000 | 1,70,000
2,40,000 2,40,000

Hira died on 315t December, 2023. It was agreed between her executors and
remaining partners that :

(1) Goodwill be valued at 2 years purchase of average profits of the previous
3 years. Average profits of the previous three years were T 45,000.

(1))  Share of profit up to the date of death on the basis of average profits of the
previous four years. Hira’s share of profit amounted to ¥ 18,000.

(i)  Interest on capital is to be provided @ 12% p.a.

(iv)  Half the amount due to Hira is to be paid immediately.

Prepare Hira’s Capital Account and Hira’s Executor’s Account as on

318t December, 2023. 6

67/S/2

Get More Learning Materials Here : & m @ www.studentbro.in



24. 1 30, 2022 1 f'@ fAfee 3 100 9@F F 5,000, 9% FOMGHAT 1 9
6% SferRm oX fora, fSrent wivem ater oy q=q 4% Siftam o form Som | et &
icsfer e @rd 5 5,000 T 9 o7 |

(&) FOTGEAT o e S STagereh UstTa= Sfafsar Shifs |

(@) WUy o 3q H & wfofd S @rd s SwIT wd g o o e w
BT oAl STATARIT T oh T 3TTerereh USHTH=IT TSt hIfrT |

(M 31 ¥, 2023 F GET g I & A ot o i w i @ mar @n
e | 6

25. (%) AR fag O BH HEEER O QU1 3:2 % UM H ATHEIN 1 fdr
FTT I | 31 1=, 2023 hl ST i foawor 70 goem & o

31 9T, 2023 i 3Ay7 o fog o feafa foraor

< 3] e 3]
TER 80,000 | UFe 40,000
T S5 50,000 | 3&R 36,000
[RERUSSIECE L] 10,000 | % fAqImEE™  2,0000 34,000
ECLE ik 30,000
HY 144,000 EEN) 40,000
fag 80,000| 224,000 | €I T HR 2,20,000
3,64,000 3,64,000
1 318, 2023 T BT B B ok AT | % a & forw fferfaa st

H@Eﬁﬁmﬁmw:

(i) T ST AT T @A % TG H F 20,000 TAT AT YSit e |

(i) ISR R Hierer kT o fIT 10% 3T TTerer= W@ S |

(iti)  TIoRIT 3T TSI 7 % 35,000 T |

(iv)  ER UE Wi % e i 6,600 | SGTaT ST |

He e @A T HTeieRT o YSi @rd I hifsr | 6

AT

67/S/2

Get More Learning Materials Here : & m @ www.studentbro.in



24. On 15t April, 2022, Reehaan Ltd. issued 5,000, 9% Debentures of € 100 each at a

premium of 6%, redeemable at a premium of 4% after five years. The company

had a balance of ¥ 5,000 in Securities Premium Account.

(a) Record necessary journal entries for the issue of debentures.

(b)  Record necessary journal entries for writing off ‘Loss on Issue of
Debentures’ utilising Securities Premium Account at the end of the first
year itself.

(c) Prepare ‘Loss on Issue of Debentures Account’ for the year ended
318t March, 2023. 6

25.  (a) Anshu and Vihu were partners in a firm sharing profits and losses in the
ratio of 3 : 2. Their Balance Sheet as at 315t March, 2023 was as follows :

Balance Sheet of Anshu and Vihu as at 315¢ March, 2023

Liabilities Amount Assets Amount
®) ®)
Creditors 80,000| Cash 40,000
General Reserve 50,000 | Debtors 36,000
Investment Fluctuation 10.000 Less Provision for
Fund " | Doubtful debts  2,000( 34,000
Capitals : Stock 30,000
Anshu 1,44,000 Investments 40,000
Vihu 80,000 | 224,000 Plant and Machinery | 2,20,000
3,64,000 3,64,000

On 18t April, 2023, Mani was admitted into partnership for %th share in

the profits of the firm on the following terms :

(1) Mani brought ¥ 20,000 as her share of goodwill and proportionate
capital.

(i1)  Provision for doubtful debts was to be maintained at 10% on
debtors.

(i)  Market value of investments was ¥ 35,000.

(iv)  The value of Plant and Machinery be increased by ¥ 6,600.

Prepare Revaluation Account and Partners’ Capital Accounts. 6
OR
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(b) Trisha, Urvi and Varsha were partners in a firm sharing profits and losses

in the ratio of 5 : 4 : 1. Their Balance Sheet as at 315! March, 2023 was as

follows :

Balance Sheet of Trisha, Urvi and Varsha as at 31t March, 2023

Liabilities Am(%u nt Assets Anz%u nt
Capitals : Fixed Assets 4,00,000
Trisha 2,00,000 Stock 1,00,000
Urvi 1,30,000 Debtors 1,50,000
Varsha 1,00,000 | 4,30,000 | Cash 2,00,000
General Reserve 1,50,000
Creditors 2,70,000
8,50,000 8,50,000

Trisha retired on 15t April, 2023 and the partners agreed to the following

terms :

(1) Fixed Assets were found overvalued by ¥ 80,000.

(i1) Stock was taken over by Trisha at ¥ 80,000.

(1)  Goodwill of the firm was valued at ¥ 1,00,000 on Trisha’s

retirement and Trisha’s share by goodwill was adjusted through the

Capital Accounts of remaining partners.

(iv)  New profit sharing ratio between the remaining partners was agreed

at 2 : 3.

(v) Trisha was paid ¥ 50,000 on retirement and the balance was

transferred to her loan account.

Pass necessary journal entries in the books of the firm on Trisha’s

retirement.
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26. (a) Diamond Ltd. issued a prospectus inviting applications for 20,000 shares
of ¥ 10 each. The amount was payable as follows :

On Application — ¥4 per share
On Allotment — T4 per share
On First and Final call — Balance

Applications for 45,000 shares were received and allotment was made as
follows :

Category (i) — Applicants for 35,000 shares were allotted 15,000 shares.
Category (i1) — Applicants for 10,000 shares were allotted 5,000 shares.

It was decided that excess money received on application be adjusted

towards sum due on allotment and calls.

Amar, an applicant of Category (ii), who was allotted 500 shares, failed to
pay the first and final call. His shares were forfeited and subsequently
reissued at ¥ 2 per share as fully paid up.

Pass necessary journal entries to record the above transactions in the books

of Diamond Ltd. 6
OR

(b)  Pearl Ltd. issued a prospectus inviting applications for 40,000 shares of
¥ 10 each at a premium of 20%. The amount was payable as follows :

On Application — ¥ 5per share
On Allotment — ¥ 5 per share (Including Premium)
On First and Final call — Balance

Applications for 60,000 shares were received and allotment was made on a
pro-rata basis to all the applicants. Excess money received on application
was adjusted towards the amount due on allotment.

Sameer who had applied for 1,200 shares failed to pay the allotment
money. His shares were forfeited immediately after allotment. All the
forfeited shares were reissued at T 7 per share as ¥ 8 paid up. First and final
call was not yet made.

Pass necessary journal entries to record the above transactions in the book
of Pearl Ltd. Open ‘Calls in Arrears Account’ wherever necessary. 6
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PART B
Option - I

(Analysis of Financial Statements)

27.  (a) Which of the following is mot a limitation of ‘Analysis of Financial

Statements’ ? 1
(A)  Itisjusta study of the reports of the company.
(B) It does not consider price level changes.
(C) It ascertains the relative importance of different components of the
financial position of the firm.
(D) It may be misleading without the knowledge of the changes in
accounting procedures followed by a firm.
OR

(b)  Ratios that are calculated for measuring the efficiency of operations of
business based on effective utilisation of resources are known as : 1
(A)  Liquidity ratios
(B)  Turnover ratios
(C)  Solvency ratios
(D)  Profitability ratios

28. (a) Sale of patents of ¥ 50,00,000 will result in : 1
(A)  Cash inflow of £ 50,00,000 from financing activities
(B)  Cash outflow of £50,00,000 from financing activities
(C)  Cash outflow of £ 50,00,000 from investing activities
(D)  Cash inflow of £ 50,00,000 from investing activities
OR

(b) Income tax paid is classified under : 1
(A)  Operating activities
(B)  Investing activities
(C) Financing activities
(D)  Cash and cash equivalents
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32.
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The Quick Ratio of a company is 1 : 1. Which of the following transactions will

result in increase of this ratio ?

(A)  Purchase of inventory ¥ 1,50,000 through cheque

(B)  Sold inventory on credit ¥ 50,000

(C)  Outstanding expenses of T 40,000 paid
(D)  Machinery purchased for cash ¥ 50,000

Which of the following transactions will result in cash outflow from operating

activities ?
(A)  Payment to creditors

(B)  Proceeds from sale of investments

(C)  Dividend received by a non-finance company

(D)  Depreciation charged on furniture

Classify the following items under major heads and sub-heads (if any) in the

Balance Sheet of the company as per Schedule III, Part I of the Companies

Act, 2013 :
(a) Calls in Advance
(b) Creditors

(c) Securities Premium

From the following information, calculate :

(a) Trade Receivables Turnover Ratio

(b) Operating Profit Ratio

Gross Profit Ratio 20%

Particulars Amount
®)
Credit Revenue from operations 55,00,000
Cash Revenue from operations 15,00,000
Debtors 12,50,000
Bills Receivable 7,50,000
Operating Expenses 7,00,000

sorre

@ www.studentbro.in



33.

67/S/2

(%h)

wAaTge fafies o fou wu feufa forawor @ qum st o1 feurf foemor dam

EAIC I 4
31 |1, 2023 W HAAT3E Terthes et feerfer foraor
31.3.2023 | 31.3.2022
feer ) @
I — IHAT TS FqTU
1. isTame Wi
() SIS 12,00,000 5,00,000
2. I JFAIE
(%) ErEeRTel 3UX 2,00,000 3,00,000
3. e eFdl
(F) AT T 6,00,000 2,00,000
kS 20,00,000 | 10,00,000
11 — gfErf
1. oT=d it
(@) Trh ufratar/amt,
a1 afcgraferat 14,00,000 7,00,000
2. Q] dieEEatRt
(%) SAITIER 9T 4,00,000 2,50,000
(@) e () 2,00,000 50,000
E5 20,00,000 | 10,00,000
YT
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33. (a) From the given Balance Sheet of Moonlight Ltd., prepare a Common Size

Balance Sheet :

Balance Sheet of Moonlight Ltd. as at 315t March, 2023

31.03.2023 31.03.2022
Particulars
® @
I — Equity and Liabilities :
1. Shareholders’ Funds
(a) Share Capital 12,00,000 5,00,000
2. Non-Current Liabilities
(a) Long-term Borrowings 2,00,000 3,00,000
3. Current Liabilities
(a) Trade Payables 6,00,000 2,00,000
Total 20,00,000 10,00,000
II — Assets :
1. Non-Current Assets
(a) Fixed Assets/Property,
Plant and Equipment
and Intangible Assets 14,00,000 7,00,000
2. Current Assets
(a) Trade Receivables 4,00,000 2,50,000
(b) Inventories 2,00,000 50,000
Total 20,00,000 10,00,000

OR

67/S/2
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34.

67/S/2

@) UEee fafee & fmfaRad foawon & 31 A=, 2023 %1 @HG 8T AN % U

qTCH AT fofaror e hifaT 4
3 qe | 2022-23 2021 -22
9. ®) ®)
TR o 3T 25,00,000 20,00,000
FHHE fEqeTy =2 5,00,000 4,00,000
I g 2,50,000 2,00,000
FL I 50%
w9t fortiee o feferRaa foaaron & e forameraral & ke Yarg” shl TuET Shifste |
Y 1 ohl TICAT ¥ TN | 6
— 31.03.2023 | 31.03.2022
@) ®)
LEHIE] 3,00,000 | 1,00,000
UoeH 1,60,000 | 2,80,000
ENiEH 12,40,000 | 10,20,000
10% Tt 1,60,000 60,000
TR Gl
() %1,20,000 % YTH Tk Hed T s T |
(i)  FUCH AU W F 1,40,000 T HABE AT | Teh #AA 1 STereh
sk Hed % 80,000 9T, % 50,000 H o= feam mm |
(i)  31.03.2023 I T 1,80,000 % 10% &=1 o1 62t foram Tram o e

fa=T R F 20,000 o AT W s feam T |

Tt o E 6,000 3T SATST TS 83T |

Get More Learning Materials Here :

Pesorre )

@ www.studentbro.in



From the following particulars of Accent Ltd., prepare a Comparative

Statement of Profit and Loss for the year ended 315! March, 2023 :

Particulars Note | 2022-23 2021 -22

No. ®) ®
Revenue from operations 25,00,000 20,00,000
Employee benefit expenses 5,00,000 4,00,000
Other expenses 2,50,000 2,00,000
Tax rate 50%

34. From the following particulars of Ruparel Ltd., calculate ‘Cash Flow from

Investing Activities’. Show your working clearly. 6
. 31.03.2023 | 31.03.2022
Particulars
@ ®
Goodwill 3,00,000 1,00,000
Patents 1,60,000 2,80,000
Machinery 12,40,000 10,20,000
10% Investments 1,60,000 60,000

Additional Information :
(1) Patents of ¥ 1,20,000 were sold at book value.

(i1)  Depreciation charged during the year on machinery was ¥ 1,40,000.

A machine having a book value of ¥ 80,000 was sold for ¥ 50,000.

(111))  On 31.03.2023, 10% investments were purchased for ¥ 1,80,000

and some investments were sold at a profit of ¥ 20,000.

Interest received on investments was ¥ 6,000.

67/S/2
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PART B
OPTION - 11
(Computerised Accounting)

27.  (a) A sequential code refers to code applied to some documents where : 1
(A)  Account heads are assigned to documents
(B)  Numbers and letters are assigned in consecutive order
(C)  Special names are given to accounts
(D)  Documents are arranged in special sequence

OR
(b)  Name the Accounting information sub-system which is linked with other

sub-systems for obtaining information about cost and expenses : 1
(A) Cash and Bank sub-system
(B)  Costing sub-system
(C)  Expense accounting sub-system
(D)  Final accounts sub-system

28. To see all available shape styles of a chart, which of the following buttons is

clicked ? 1
(A) More
(B)  Chart tool
(C)  Picture
(D)  Custom
29. (a) A ‘legend’ can be repositioned on the chart : 1
(A)  On the right side only
(B)  On the left side only
(C)  On the bottom of x-axis
(D)  Anywhere
OR

67/S/2
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31.

32.

33.

34.
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31.

32.

33.

34.

67/S/2

(b) The need for codification is for : 1

(A) the generation of mnemonic codes
(B)  securing the accounting reports
(C)  easy processing of data and keeping records
(D)  the encryption of data
Which of the following is not an advantage of computerised accounting system ? 1

(A)  Timely generation of reports in desired format

(B)  Ensures effective control over the system

(C)  Faster obsolescence of technology

(D)  Confidentiality of data is maintained

State any three limitations of Computerised Accounting System. 3

State the steps to freeze a formula so that the present value is maintained in the

given cell and recalculation is prevented. 3

(a) State steps to be taken in preparation of a chart. 4
OR

(b) What are the uses of ‘Error Alert tab’ ? 4

What is meant by ‘Merging a range of cells’ ? How is it done ? State the steps to

split a merged cell. 6
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Marking Scheme
Strictly Confidential
(For Internal and Restricted use only)
Senior Secondary School Supplementary Examination, July 2024
SUBJECT NAME: ACCOUNTANCY(055) PAPER CODE:67/S/2
General Instructions: -

1 You are aware that evaluation is the most important process in the actual and correct
assessment of the candidates. A small mistake in evaluation may lead to serious problems
which may affect the future of the candidates, education system and teaching profession.
To avoid mistakes, it is requested that before starting evaluation, you must read and
understand the spot evaluation guidelines carefully.

2 “Evaluation policy is a confidential policy as it is related to the confidentiality of the
examinations conducted, Evaluation done and several other aspects. Its’ leakage to
public in any manner could lead to derailment of the examination system and affect
the life and future of millions of candidates. Sharing this policy/document to anyone,
publishing in any magazine and printing in News Paper/Website etc may invite
action under various rules of the Board and IPC.”

3 Evaluation is to be done as per instructions provided in the Marking Scheme. It should not
be done according to one’s own interpretation or any other consideration. Marking Scheme
should be strictly adhered to and religiously followed. However, while evaluating,
answers which are based on latest information or knowledge and/or are innovative,
they may be assessed for their correctness otherwise and due marks be awarded to
them. In class-XII, while evaluating two competency-based questions, please try to
understand given answer and even if reply is not from marking scheme but correct
competency is enumerated by the candidate, due marks should be awarded.

4 The Marking scheme carries only suggested value points for the answers.These are in the
nature of Guidelines only and do not constitute the complete answer. The students can
have their own expression and if the expression is correct, the due marks should be
awarded accordingly.

5 The Head-Examiner must go through the first five answer books evaluated by each
evaluator on the first day, to ensure that evaluation has been carried out as per the
instructions given in the Marking Scheme. If there is any variation, the same should be zero
after delibration and discussion. The remaining answer books meant for evaluation shall be
given only after ensuring that there is no significant variation in the marking of individual
evaluators.

6 Evaluators will mark( ¥ ) wherever answer is correct. For wrong answer CROSS ‘X” be
marked. Evaluators will not put right (v') while evaluating which gives an impression that
answer is correct and no marks are awarded. This is most common mistake which
evaluators are committing.

7 If a question has parts, please award marks on the right-hand side for each part. Marks

1

Get More Learning Materials Here : & m &N www.studentbro.in



awarded for different parts of the question should then be totaled up and written in the left-
hand margin and encircled. This may be followed strictly.

8 If a question does not have any parts, marks must be awarded in the left-hand margin and
encircled. This may also be followed strictly.

9 If a student has attempted an extra question, answer of the question deserving more marks
should be retained and the other answer scored out with a note “Extra Question”.

10 No marks to be deducted for the cumulative effect of an error. It should be penalized only
once.

11 A full scale of marks 80 (as given in Question Paper) has to be used. Please do not
hesitate to award full marks if the answer deserves it.

12 Every examiner has to necessarily do evaluation work for full working hours i.e., 8 hours
every day and evaluate 20 answer books per day in main subjects and 25 answer books
per day in other subjects (Details are given in Spot Guidelines).

13 Ensure that you do not make the following common types of errors committed by the
Examiner in the past:- Giving more marks for an answer than assigned to it.

e \Wrong totaling of marks awarded on an answer.

e Wrong transfer of marks from the inside pages of the answer book to the title page.
Wrong question wise totaling on the title page.

e Leaving answer or part thereof unassessed in an answer book.

e \Wrong totaling of marks of the two columns on the title page.

e \Wrong grand total.

e Marks in words and figures not tallying/not same.

e Wrong transfer of marks from the answer book to online award list.

e Answers marked as correct, but marks not awarded. (Ensure that the right tick mark is
correctly and clearly indicated. It should merely be a line. Same is with the X for
incorrect answer.)

e Half or a part of answer marked correct and the rest as wrong, but no marks awarded.

14 While evaluating the answer books if the answer is found to be totally incorrect, it should be
marked as cross (X) and awarded zero (0)Marks.

15 Any un assessed portion, non-carrying over of marks to the title page, or totaling error
detected by the candidate shall damage the prestige of all the personnel engaged in the
evaluation work as also of the Board. Hence, in order to uphold the prestige of all
concerned, it is again reiterated that the instructions be followed meticulously and
judiciously.

16 The Examiners should acquaint themselves with the guidelines given in the “Guidelines
for spot Evaluation” before starting the actual evaluation.

2
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17 Every Examiner shall also ensure that all the answers are evaluated, marks carried over to
the title page, correctly totaled and written in figures and words.

18 The candidates are entitled to obtain photocopy of the Answer Book on request on
payment of the prescribed processing fee. All Examiners/Additional Head Examiners/Head
Examiners are once again reminded that they must ensure that evaluation is carried out
strictly as per value points for each answer as given in the Marking Scheme.
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MARKING SCHEME
Senior Secondary School Supplementary Examination, July 2024
ACCOUNTANCY (Subject Code-055)
[ Paper Code : 67/5/2 ]
Maximum Marks : 80

PART -A
(ACCOUNTING FOR PARTNERSHIP FIRMS AND COMPANIES)
Q. Marks
No EXPECTED ANSWER / VALUE POINTS
1. Q. Arjun, Babita and.........cccceeerreeeeecnerne. 1
Ans. (A) 37,500 Mark
2. | Q. There are two statements.............c.cceeuuuuene 1
Ans. (C) Assertion(A) is correct, but Reason(R) is incorrect. Mark
3. Q. Kamini, Lata and ......cccccvceerervccereernnnnes 1
Ans.(A) Old partners in old ratio. Mark
4. | Q.(a) Renu, Trilok and .........ccceevervueerceercneerenes 1
.c.c. Mark
Ans. (D) 8:5:5:2 or
OR
Q.(b) AShu aNd Ri@.eecuueeeereeeneseesessesesscssesssanes 1 )
Ans. (C) 2:2:3 Mar
5. Q. Nikhil and Sharat were.........cccceuereererirunenen. 1
Ans. (C) 7.5 months Mark
6. | Q. Pawan, Kavita and ..........ccceeveerverrirninicnnnne 1
Ans. (B) 26,000 Mark
7. Q. Daksh’s interest on capital....................... 1
Ans. (B) 8,000 Mark
8. | Q. Ekansh’s share ........ccueivveiiisencenniscccennnns 1
Ans. (A) Nil Mark
9. | Q. There are two statements............cceouueeennee 1
Ans. (B) Both Assertion(A) and Reason(R) are correct and Reason (R) is the correct | Mark
explanation of Assertion(A).
10. | Q.(a) Money not received...............ccoueuvuuee 1
Ans. (C) debited to calls in arrears account. Mark
OR or
Q.(b) Those debentures where............ccccecvrueee.. 1
Ans. (A) Secured Debentures Mark
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11. | Q.(a) Nagar Ltd........cccoveureeriseennririsncinnercesnnsesnnnens 1
Ans. (D)Z30,000 Mark
OR
or
Q.(b) On 1%t April, 2022 Surya Ltd.........cceeerurrunnee 1
Ans. (A) %1,20,000 Mark
12. | Q. (a)Deepa, Elton and Frank...........cecevvveuiecseresesninnseinssnsnsannenns
Ans. 1
(A) Mark
Journal
Particulars Debit Credit
Amount Amount
X) X)
Deepa’s Capital A/c Dr. 10,000
To Frank’s Capital A/c 10,000
OR or
Q. (D) SOM, PaM......ueireerirerirneeceenaeesseensnessnaessnsssssnssssssssnssssasssnees
1
Ans.
(B) Mark
Journal
Particulars Debit Credit
Amount Amount
X) X)
Ron’s Capital A/c Dr. 60,000
To Som’s Capital A/c 60,000
13. | Q. (a)Anu, Bina and ROY........ccccevrurereecueereenannes 1
Ans. (D) 2:1 Mark
OR
or
Q. (b) Asha, Y !
. ] 1T T T T PR Mark
Ans. (B) 5:4
14. | Q. Sinoy Ltd. issued.......ccceeeeerererrerrceeerveecrnnns 1
Ans. (C) 5,000 Mark
15. | Q. The amount of share capital.................... 1
Ans. (D) Nominal capital Mark
16. | Q. Beeta Ltd. offered.........cccceevuvirrvervcnnrrencnnne 1
Ans. (A)X 1,00,00,000 Mark
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17. | Q. Diya, Esha and.........cucceireecrernrrennreensceesceeeesaeeensesssnnsesnnenes
Ans.
Gaining share = New Share - Old Share......l
Diya’s gaining share
3/10-4/10 =-1/10 (Sacrifice).....ccoeereruenne. )
1%
Esha’s gaining share
7/10 - 5/10 = 2/10 (GAIN)errrroererreereereereereene. %
Only Esha gains 2/10 share
Books of Diya, Esha and Fila
Journal
L.F Debit Credit
Date Particulars Amount | Amount
X) (X)
Esha’s Capital A/c Dr. 60,000 1%
To Diya’s Capital A/c 30,000
To Fila’s Capital A/c 30,000
(Goodwill adjusted to the capital accounts of
partners on change in profit sharing ratio) =3
Marks
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18. | Q. Rina and Anna were...........cuvriienneinecnsnsnnnnncsesnesesnnenes
Ans.

Normal Profits= Normal rate of return x Capital Employed

100
=5,00,000 x 20/100
=R1,00,000......c00c00 ettt eeseree e et s er e st s er e s nene s 2
Year Adjusted profit (%) A
2019-20 2,00,000
2020-21 4,00,000
2021-22 2,50,000-50,000 = 2,00,000 >
2022-23 4,00,000
Total 12,00,000
Average profit =12,00,000/4 | )
=% 3,00,000 /
Super Profit = Average profit — Normal profit
= 3,00,000- 1,00,000 } ..............................................
=%2,00,000
Goodwill = Super Profits x Number of years’ purchase
=2x2,00,000
= X4,00,000 3
Marks
19. | Q. (a) Jatin, Keshav and .........cccceeeeverreeverreennnnnnen
Ans.
Books of Jatin, Keshav and Lalit
Journal
Date Particulars o AmDoz[Z;R) Amcgflilf(i)
2023 Jatin’s Current A/c Dr. 1,000 1
April 1 To Keshav’s Current A/c 1,000
(Omission of Interest on Capital, now
rectified)
7
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Working Notes:-
Adjustment Table
Particulars Jatin Keshav Lalit
Dr. () Cr.(X) Dr.(X) Cr.(X) Dr.(X) Cr.(X)
Interest on Capital to
be credited
2021-22 12,000 10,000 8,000
2022-23 12,000 10,000 8,000
Profits of 230,000 15,000 9,000 6,000
reversed in ratio of 2
5:3:2 for 2021-22
Profits of 30,000 10,000 10,000 10,000
reversed in ratio of
1:1:1 for 2022-23 -
Net Effect 1,000 1,000 Marks
Note:- Full credit to be given if working notes are given in any other form.
OR or
Q.(b) Meera, Neena and ..........cccceeveeerneereererneensneecneeseeennns
Ans.
Books of Meera, Neena and Ojas
Journal
L.F Debit Credit
Date Particulars Amount | Amount
(X) (X)
2023
March 31 | Neena’s Capital A/c Dr. 250 1
Ojas’s Capital A/c Dr. 500
To Meera’s Capital A/c 750
(Omission of Interest on Drawings, now
rectified)
Working Notes:-
Adjustment Table
Particulars Meera Neena Ojas
Dr. () Cr.(X) Dr.(X) Cr.(X) Dr.(X) Cr.(X)
Interest on Drawings 3,000 2,500 2,000
to be debited 2
Profits of X7,500 3,750 2,250 1,500
credited in ratio of
5:3:2
Net Effect 750 250 500 -
Note:- Full credit to be given if working notes are given in any other form. Marks
8

Get More Learning Materials Here : & m &N www.studentbro.in



20. | Q. (a) Sheetal Ltd. purchased...........ccceeeereerrreecerrreennen.
Ans. Books of Sheetal Ltd.
Journal
L.F Debit Credit
Date Particulars Amount Amount
(%) ()
Building A/c Dr. 2,50,000
Plant and Machinery A/c Dr. 2,00,000
Furniture A/c Dr. 40,000
To Sundry Liabilities A/c 30,000 1%
To Poonam Ltd. 4,40,000
To Capital Reserve A/c 20,000
(Assets and liabilities taken over)
Poonam Ltd. Dr. 4,40,000
To 12% Debentures A/c 4,00,000
To Securities Premium A/c 40,000 1%
(4,000 12% debentures issued at
premium for consideration
other than cash) =
Marks
OR
Q. (b) On 1%t April, 2023, SIMPple Ltd.......cccereeseeeersreenseesseenns or
Ans. Books of Simple Ltd.
Journal
L.F Debit Credit
Date Particulars Amount Amount
(X) ®)
2023 Sundry Assets A/c Dr. 5,00,000
April 1 | Goodwill A/c Dr. 12,00,000 1%
To Sundry Liabilities A/c 1,00,000
To Temur Ltd. 16,00,000
(Assets and liabilities taken over)
2023 Temur Ltd. Dr. 16,00,000
April 1 To Bank A/c 1,00,000
To 8% Debentures A/c 10,00,000 1%
To Securities Premium A/c 5,00,000
(10,000 8% debentures issued at =
premium for consideration Marks
other than cash)
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21. | Q. Sonia and ROhit Were Partners iN............eeeeeeseeseessessessssesenes
Ans.
Books of Sonia and Rohit
Dr. Realisation A/c Cr.
Particulars Amount . Amount
Particulars
(X) (X)
To Sundry Assets By Sundry Liabilities
Building 2,00,000 Bank Loan 2,20,000
Machinery  1,40,000 Creditors 70,000 2,90,000
Furniture 80,000 Z
Debtors 1,20,000 By Bank A/c
Stock 60,000 6,00,000 | Building, Machinery &
Vs Furniture 3,44,000
Debtors 1,08,000
To Bank A/c 2,20,000 | Stock 72,000 5,24,000
(Bank loan) A
By loss transferred to
To Rohit’s Capital A/c 14,000 | Partners’ Capital A/c:
(Realization Expenses) 14 Sonia 12,000
Rohit 8,000 20,000
4
Marks
8,34,000 8,34,000
Q. Shringar Ltd. was registered .........ccccevervrrrcvrrcneccsenncsenssennnns
22. | Ans.
Balance Sheet of Shringar Ltd. (An Extract)
as At
Particulars Note No. X
I. EQUITY & LIABILITIES
Shareholders’ Funds 1
Share Capital 1 1,80,000
Notes to Accounts
Particulars %
1.Share Capital
Authorized Capital
50,000 equity shares of X10 each 5,00,000
Issued Capital
20,000 equity shares of X10 each 2 00.000
—— 3
10
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Subscribed Capital
Subscribed and fully paid up
14,000 equity shares of X10 each 1,40,000
%
Subscribed but not fully paid up
5,000 equity shares of X10 each 50,000
Less: Calls in arrears 5,000 x X2 (10,000) 40,000 1/2
1,80,000
Marks
23. | Q. Gopi, Hira and Ira Were........cocccevveeerrerceereceecssecssensesnnenes
Ans.
Books of Gopi, Hira and Ira
Dr. Hira’s Capital A/c Cr.
Particulars Amount Particulars Amount
X X
By Balance b/d 50,000
To Hira’s Executor’s A/c 1,12,500 | By General Reserve A/c 10,000
By Gopi’s Capital A/c 22,500
(goodwill) "
By Ira’s Capital A/c 7,500
(goodwill) Z
By Profit &Loss Suspense A/c 18,000 5
By Interest on Capital A/c 4 4,500
1,12,500 1,12,500
Dr. Hira’s Executor’s A/c Cr.
Particulars Amount Particulars Amount
Y % 1
To Bank A/c ) 56,250 | By Hira’s Capital A/c 1,12,500
To Balance c/d/ Hira’s 56,250
Executor’s Loan A/c [
1,12,500 1,12,500 "
Marks
11
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24.

Q. On 1st April, 2022, Rehaan Ltd. issued..........cccceeeuurearenee.

Get More Learning Materials Here : &

Ans.
Books of Rehaan Ltd
Journal
Date Particulars L.F Debit Credit
Amount Amount
) (X)
(a)
2022 Bank A/c Dr. 5,30,000 1
April 1 To Debenture Application and 5,30,000
Allotment A/c
(Application money on 9% Debentures
received)
" Debenture Application and Allotment A/c Dr. 5,30,000
Loss on issue of Debentures A/c Dr. 20,000 2
To 9% Debentures A/c 5,00,000
To Securities Premium A/c 30,000
To Premium on Redemption of 20,000
Debentures A/c
(Debentures application money transferred
to 9% Debentures Account and Securities
Premium Account)
(b) !
2023 Securities Premium A/c Dr. 20,000
?l\)/:llarch To Loss on issue of Debentures A/c 20,000
(Loss on issue of debentures written off)
(c)
Dr. Loss on issue of Debentures A/c Cr.
Date Particulars J | Amount Date Particulars J Amount
Flo® F (<) 2
2022 | To Premium on 20,000 2023 By Securities 20,000
April Redemption of March | Premium A/c
1 Debentures A/c 31 -
20,000 20,000 Marks
12
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25. | Q. (a) Anshu and Vihu were partnersin a firm .......cccoeveevveceeceecnenne

Ans.
Dr. Revaluation A/c Cr.
Particulars Amount . Amount
Particulars
(%) (%)
To Provision for doubtful 1,600 | By Plant and Machinery 6,600
debts A/c 1A A/c A
To Gain transferred to
Capital A/cs : 2
Anshu 3,000
Vihu 2[000 5,000
6,600 6,600
Dr. Partners’ Capital A/c Cr.
Particulars Anshu Vihu Mani Particulars Anshu Vihu Mani
g g g g g g
To Balance 1,92,000 1,12,000 76,000 | By Balance b/d 1,44,000 80,000
c/d % %
By General 4

Reserve A/c [ 30,000 20,000

By Investment
Fluctuation 3,000 2,000

Fund A/c %

By Premium
for Goodwill 12,000 8,000

A/c
By Revaluation 3,000 2,000
A/c
By Cash A/c 76,000 -
1,92,000 1,12,000 76,000 1,92,000 | 1,12,000 76,000 6

Marks

OR or
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Q. (b) Trisha, Urvi and Varsha were partners

Ans.
Books of Trisha, Urvi and Varsha
Journal
L.F Debit Credit
Date Particulars Amount | Amount
X) (%)
2023 | General Reserve A/c Dr. 1,50,000
April To Trisha’s Capital A/c 75,000
1 To Urvi’s Capital A/c 60,000
To Varsha’s Capital A/c 15,000
(General Reserve transferred to partners’
capital accounts in old ratio)
Revaluation A/c Dr. 1,00,000
To Fixed Assets A/c 80,000
. To Stock A/c 20,000
(Fixed Assets and Stock revalued)
Trisha’s Capital A/c Dr. 50,000
Urvi’s Capital A/c Dr. 40,000
Varsha’s Capital A/c Dr. 10,000
’ To Revaluation A/c 1,00,000
(Loss on revaluation transferred to partners’
capital accounts in old ratio)
Trisha’s Capital A/c Dr. 80,000
) To Stock A/c 80,000
(Stock taken over by Trisha)
Varsha’s Capital A/c Dr. 50,000
To Trisha’s Capital A/c 50,000
. (Trisha’s share of goodwill adjusted to capital
account of the gaining partner)
Trisha’s Capital A/c Dr. 1,95,000
To Cash A/c 50,000
’ To Trisha’s Loan A/c 1,45,000

(Part payment made to Trisha and the
balance transferred to her loan account)

Marks

Get More Learning Materials Here : &
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26.

Q. (a) Diamond Ltd. issued a prospectus ..........ccceeercureuens

Ans.
Books of Diamond Ltd.
Journal
L Debit Credit
Date Particulars . Amount Amount
F () ()
Bank A/c Dr. 1,80,000
To Share Application A/c 1,80,000
(Application money received on 45,000
shares)
Share Application A/c Dr. 1,80,000
To Share Capital A/c 80,000
To Share Allotment A/c 80,000
To Calls in Advance A/c 20,000
(Application money transferred to
Share capital A/c, excess money
received adjusted towards allotment
and call)
Share Allotment A/c Dr. 80,000
To Share Capital A/c 80,000
(Amount due on allotment)
Bank A/c Dr. ---
To Share Allotment A/c ---
(Amount received on Allotment)
Share First and Final Call A/c Dr. 40,000
To Share Capital A/c 40,000
(Amount due on 20,000 shares on First
and Final Call)
Bank A/c Dr. 19,000
Calls in Arrears A/c Dr. 1,000
Calls in Advance A/c Dr. 20,000
To Share First and Final Call A/c 40,000

(Amount received on First and Final
Call)

Alternatively

%

%

Get More Learning Materials Here : &
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Bank A/c Dr. 19,000
Calls in Advance A/c Dr. 20,000
To Share First and Final Call A/c 39,000
(Amount received on First and Final
Call)
Share Capital A/c Dr. 5,000
To Calls in Arrears A/c 1,000
To Forfeited Shares A/c 4,000 1
(Forfeiture of 500 shares for non-
payment of call money)
Alternatively
Share Capital A/c Dr. 5,000
To Share First &Final Call A/c 1,000
To Forfeited Shares A/c 4,000
(Forfeiture of 500 shares for non-
payment of call money)
Bank A/c Dr. 1,000
Forfeited Shares A/c Dr. 4,000 1
To Share Capital A/c 5,000
(Shares re-issued @ X2 per share as
fully paid up)
Forfeited Shares A/c Dr. ---
To Capital Reserve A/c --- =
. . Marks
(Gain on re-issue of shares transferred
to capital reserve) or
OR
Q. (b) Pearl Ltd. issued a prospectus ..........cceeeeverruene
Ans. Books of Pearl Ltd.
Journal
L Debit Credit
Date Particulars . Amount Amount
F () ()
Bank A/c Dr. 3,00,000 1
To Share Application A/c 3,00,000
(Application money received on 60,000
shares)
16
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Share Application A/c Dr. 3,00,000
To Share Capital A/c 2,00,000 1
To Share Allotment A/c 1,00,000

(Application money transferred to

Share capital A/c, excess money

received adjusted towards allotment)

Share Allotment A/c Dr. 2,00,000 "
To Share Capital A/c 1,20,000
To Securities Premium A/c 80,000

(Amount due on allotment)

Bank A/c Dr. 98,000 1
Calls in Arrears A/c Dr. 2,000

To Share Allotment A/c 1,00,000
(Allotment money received)

Share Capital A/c Dr. 6,400
Securities Premium A/c Dr. 1,600 1
To Calls in Arrears A/c 2,000
To Forfeited Shares A/c 6,000

(Forfeiture of 800 shares for non-
payment of allotment money)

Bank A/c Dr. 5,600 1
Forfeited Shares A/c Dr. 800
To Share Capital A/c 6,400
(Shares re-issued @ X7 per share as X8
paid up)
Forfeited Shares A/c Dr. 5,200 "
To Capital Reserve A/c 5,200

(Gain on re-issue of forfeited shares

transferred to capital reserve) 6
Marks
PART-B
OPTION -I
(Analysis of Financial Statements)
27. | Q. (a) Which of the following is NOt...........cuccererrsersrnsessecsessnssnssssesss s sssssnens 1 Mark

Ans. (C) It ascertains the relative importance of different components of the

financial position of the firm.
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OR Or

Q. (b) Ratios that are calculated for.........cccceeveececrrceerrrcsee e ceccneeenes
Ans.(B) Turnover ratios 1 Mark
28. | Q. (a) Sale of patents.........ccveeeveenneenreenrreerneerssneesseeseens 1 Mark
Ans. (D) Cash inflow of X50,00,000 from investing activities
OR Or
Q. (b) Income tax paid.......ccceeeerrrerererrnernesnrenesseseseeseenseens 1 Mark

Ans .(A) Operating activities

29. | Q. The qUICK ratio .......cccevvrrineeirininenninnnecsnennesesssnnnens 1 Mark
Ans. (B) Sold inventory on credit 50,000

30. | Q. Which of the following transactions will............cccceceeveeeeverennnn. 1 Mark
Ans. (A) Payment to creditors

31. | Classify the....... i cssnn e saeee
Ans.
Item Major Head Sub Head
(a) Calls in Advance Current Liabilities Other Current Liabilities
(b) Creditors Current Liabilities Trade Payables
(c) Securities Premium Shareholders’ Funds | Reserves and Surplus Y% %6
Marks
32. | Q. From the following information, .......c.ccccucuvereerennnnen.
Ans.
(a) Credit Revenue from Operations= X55,00,000
Average Trade Receivables = Debtors + Bills Receivables
=12,50,000+7,50,000 @ > e, Z
=%20,00,000
1%
Trade Receivables Turnover Ratio = Credit Revenue from Operations ........c.ccce.e..... 5
Average Trade Receivables
=55,00,000/20,00,000
Z2.75 TIMESui ittt et e e 2
18
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(b) Revenue from Operations

= Credit Revenue from Operations + Cash Revenue from Operations
=55,00,000 + 15,00,000

=X70,00,000

\

Gross profit = 20/100 x 70,00,000

Get More Learning Materials Here : &

=X14,00000 2
Operating Profit = Gross Profit — Operating Expenses 1%
= 14,00,000- 7,00,000 _/
=X7,00,000
Operating Profit Ratio = Operating Profit / Revenue from Operations x 100......... Z
=7,00,000/ 70,00,000 x 100
2 100ttt e e e e et arraaaaaeeens 2
3 Marks
33. | Q.(a) From the given Balance Sheet of Moonlight Itd............cccceureveecunenennee
Ans.
Common Size Balance Sheet of Moonlight Ltd. as at 31.3.2022 and 31.3.2023
Particulars Note Absolute Absolute % of % of
No. Amount Amount Balance Balance
31.3.2022 | 31.3.2023 Sheet Sheet
(X) (X) Total Total
31.3.2022 31.3.2023
I. Equity and Liabilities:
1. Shareholders’ Funds
(a) Share Capital 5,00,000 12,00,000 50 60 %
2. Non-current liabilities
(a) Long term borrowings 3,00,000 2,00,000 30 10 %
3. Current Liabilities
(a) Trade Payables 2,00,000 6,00,000 20 30 e
TOTAL 10,00,000 20,00,000 100 100 %
[l. Assets:
1.Non-current Assets
(a) Fixed
Assets/Property,
Plant and Equipment 7,00,000 14,00,000 70 70 %
and Intangible Assets
2.Current Assets
(a) Trade Receivables 2,50,000 4,00,000 25 20 1
(b) Inventories 50,000 2,00,000 5 10 A
TOTAL 10,00,000 20,00,000 100 100 Y
Marks
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OR
or
Q.(b) From the following particulars of Accent Ltd.,......cccceecerrvrrvnrerercennns
Ans.
Comparative Statement of Profit and Loss of Accent Ltd.
for the year ended 31.3.2023
Particulars Note | 2021-22 2022-23 Absolute %
No. (?) R) Increase/Decrease Increase/
(%) Decrease
) 1
I.Revenue from Operations 20,00,000 25,00,000 5,00,000 25
[I. EXPENSES
Employee benefit "
expenses 4,00,000 5,00,000 1,00,000 25 ;
Other expenses 2,00,000 2,50,000 50,000 25 %
TOTAL EXPENSES 6,00,000 7,50,000 1,50,000 25 72
[Il. Profit before Tax (I-l) 14,00,000 17,50,000 3,50,000 25 V2
IV. Less:Tax @50% 7,00,000 8,75,000 1,75,000 25 Y%
V. Profit after Tax 7,00,000 8,75,000 1,75,000 25 A
(m-1v)
Marks
34. | Q. From the following particulars of Ruparel Ltd., ......ccceeecereueecceeeneens
Ans.
Cash flow from Investing Activities
] Amount Amount
Particulars % %
Purchase of goodwill (2,00,000)
Proceeds from sale of patents 1,20,000
Proceeds from sale of machinery 50,000
Purchase of machinery (4,40,000)
Purchase of 10% investments (1,80,000)
Proceeds from sale of 10% investments 1,00,000 %2x8
Interest received on 10% investments 6,000 =4
Net cash used in Investing Activities (5,44,000)
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Working Notes:-

Dr. Machinery A/c Cr.
Particulars R Particulars S
To Balance b/d 10,20,000 | By Depreciation A/c 1,40,000
To Bank/Cash A/c 4,40,000 | By Bank/Cash A/c 50,000 1
(Bal. Fig.) By Statement of 30,000
Profit and Loss
By Balance c/d 12,40,000
14,60,000 14,60,000
Dr. 10% Investments A/c Cr.
Particulars X Particulars g
To Balance b/d 60,000 | By Bank/Cash A/c 1,00,000 1
To Statement of (Bal. Fig.)
Profit and Loss 20,000 | By Balance c/d 1,60,000
To Bank/Cash A/c 1,80,000 "
2,60,000 2,60,000 Marks
PART-B
OPTION -II
(Computerised Accounting)
27. | Q. (a) A sequential code..........ocrmriniiniiniinininnisn s 1Mark
Ans. (B)Numbers and letters are assigned in consecutive order
OR Or
Q. (b) Name the accounting.........cceeeveecerrerceerreereesreeeneeseesnenne
Ans.(B) Costing sub-system 1Mark
28. | Q. TOSEE Alluccuerereeeeeeeeeeeeeesaees 1Mark
Ans. (A ) More
29. | Q. (2) A 1€8ENM ...t ee e sae e 1Mark
Ans. (D) Anywhere
OR Or
Q. (b) The need for.......uineenreinneecrenneecrenerseesene
Ans.(D) the encryption of data 1Mark

Get More Learning Materials Here : &
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30. | Q. Which of the following.........cceeerveeernrereerereennnes 1Mark
Ans. (C) Faster obsolescence of technology

31. | Q(a). State any three.......cccecevverveerrneereecnens
Ans. Any of the three limitations: (Any three)

1. Faster obsolescence of technology necessitates investment in shorter period of 1x3
time.

2. Data may be lost or corrupted due to power interruptions. =

3. Un-programmed and un-specified reports cannot be generated. Marks

32. | Q(a). State the steps to freeze ......cccuueeveecerrcercevrenenn.

Ans. To prevent recalculation and maintain the present calculated value, we can freeze
the formula using paste special command. The following steps are required:
1. Select the cell/cells that contain the formula.
2. Click the home Tab and select copy symbol to click; this will copy the values and 1x3
formulas of the cells.
3. Click the ‘Paste’ tab and select ‘Paste Special’.

In the ‘Paste Special’ box, under paste select the ratio button next to values and click Ok. -
This will permanently remove the formula from the workbook. Marks

33. | Q(a). State steps to be taken ........ccceeeeeerveeveeerennnnnes

Ans. Following are the steps taken to prepare a chart:

1. Enter data in a worksheet with proper columns and rows titles.
From chart group option, create a basic chart.
Change layout or style of chart by applying predefined chart lay out and style the
layout and format of chart elements can be changed.
Add or remove titles or data tables.
Show or hide a legend.
Display or hide chart axes or gridlines. Marks
Move (resize) a chart.
Save the chart. Or

wmn

% x8

NG

Q(b). What are the uses ........cceeceeveeercerrceeraenn

Ans. ‘Error Alert Tab’enables:
a) To display the error alert after invalid data is entered in the box.
b) Enter message allow to type the desired message for user and title for reference
purpose.
¢) In style drop down menu, select information warning or stop as per severity and 1+1+2
accuracy requirement for data where- =4
I.  Information: display a message but will prevent entry of invalid data. Marks
ii.  Warning: display a warning message but will not prevent entry of invalid data.
iii.  Stop: will prevent invalid entry of data.
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34. | Q. What is meant by.......cccecceevrerreereereenenne

Ans. Merged cells are a single cell that is created by combining two or more selected cells.
The cell reference for a merged cell is the upper left cell in the original selected range.
When two or more adjacent horizontal or vertical cells are merged, the cells become one
large cell and displayed across multiple columns or rows. The contents of one appear in the
center of the merged cell.

To merge the cell:

1. Select the two or more adjacent cells that we want to merge.

2. On the Home tab, in the Alignment group, click, merge and center (or bottom).

3. The cell will be merged in a row or column, and the cell contents will be centered in
the merged cell. To merge cell without centering, click the arrow next to Merge and
Centre and then click Merge Across or Merge Cells. The cell address of merge cells
will be the address of lower active cell.

4. To change the text alignment in the merged cell, select the cell; click any of the
alignment buttons in the Alignment group on the Home tab.

To split a merged cell:
1. Select the merged cell.

2. When we select a merged cell, the Merge and Centre button also appears selected in 2+2+2
the Alignment group on the Home tab. =6
3. To split the merged cell, click merge and Centre. The contents of the merged cell marks

will appear in the upper left cell of the range of split cell.

%k %k %k >k ok 3k %k %k %k %k %k k *k Kk k k k kk
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